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Chapter 1 Test REVIEW: Integers

Multiple Choice
Identify the choice that best completes the statement or answers the question.

A/ 1. The temperature at 6:00 P.M. was 15°C The temperature dropped 2°C per hour. What was the temperature at

&4 o o low o Haw s 1Bhes
b. —1°C d. 5°C = QOD) = ~Q0° drop
_ 1D+ 720 = O
Find the absolute value. G\WGN| S POSYRV €
A oo ARG D OGN i 2EYO
- ' 2 c. |2
b. -2 d |2
Evaluate the expression. _ q _\_" 3) N % : _—’ 1+ g
L3 4-3+8 ~— |
1 c. -1
b. -15 d 7

Evaluate the expression when a =48, 5 =6, and ¢ =-8.
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a. 25 c. -169
b. 7 d -7

Find the difference. . _ .
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a 78 -78
b. -73 7 —65
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Find the mean of the integers. ) -
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() v =715
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—75+37= 43
-8l = —8
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